

$$r_{int} + E_{int} \rightarrow D = b^T \cdot \epsilon_{ac} = 17 \leftarrow$$

$$k = -\frac{y}{y'} \cdot y' = -r_n^r + \epsilon_n \cdot (-r_n^r) \Rightarrow y^r = -r_n^r + \epsilon_n \Rightarrow k = -y$$

$$f(x) = \begin{cases} n! \cdot e^x; & x > 1 \\ x_{n+1} + a \cdot x^b; & x \leq 1 \end{cases} \xrightarrow[n \geq 1]{x=1} x^r + \frac{x_n}{e^x} = x_{n+1} + a + r \Rightarrow n^r + r x_{n+1} (a+r) = 0$$

$$f(m) = \begin{cases} Y_n - b & ; m+1 \geq Y_n \\ a + Y_n & ; m+1 < Y_n \end{cases} \rightarrow \begin{cases} m+1 \geq Y_n \Rightarrow m \geq 1 \\ m+1 < Y_n \Rightarrow m < Y_n - 1 \end{cases}$$

$$\Rightarrow r_n^T - b = a + r_n \xrightarrow{n=-1} r_{(-1)}^T - b = a + r_{(-1)} = r - b = a - r \Rightarrow \boxed{a+b=e}$$

$$y = \sqrt{4m-a} + \sqrt{b-4m} \Rightarrow \begin{cases} 4m-a \geq 0 \Rightarrow 4m \geq a \Rightarrow m \geq \frac{a}{4} \\ b-4m \geq 0 \Rightarrow b \geq 4m \Rightarrow m \leq \frac{b}{4} \end{cases}$$

$\Rightarrow \pm \wedge \Pi = \{r\} \Rightarrow a = r, b = 15 \Rightarrow a = 15, b = 4$
 $\gamma_m = \frac{b}{a} = \frac{1}{r}$

Teil 1) $\sqrt{\frac{n+1}{|n-1|}} + \sqrt{\frac{4-n}{n^2+n+1}}$ (25)

$\downarrow$

$\frac{-1}{|n-1|} \geq 0 \Rightarrow \frac{-1}{- \phi + \phi +} \Rightarrow D_f = [-1, +\infty) - \{1\}$ (I)

$\frac{4-n}{n^2+n+1} \geq 0 \Rightarrow \frac{4-n}{n^2+n+1} \geq 0 \Rightarrow D_f = (-\infty, 4]$ (II)

$\Rightarrow D_f \subset \mathbb{I} \cap \mathbb{II} = [-1, 4] - \{1\}$

$$\text{b) } \sqrt{[u] - \varepsilon} + \sqrt{v - [u]}$$

$$\swarrow \quad \searrow$$

$$[u] - \varepsilon \geq 0 \Rightarrow [u] \geq \varepsilon \rightarrow D_{f, u} \geq \varepsilon \rightarrow [\varepsilon, +\infty) \text{ (II)}$$

$$v - [u] \geq 0 \Rightarrow v \geq [u] \rightarrow [u] \leq v \rightarrow D_{f, v} \leq v \rightarrow (-\infty, v] \text{ (I)}$$

$$\boxed{D_{f, v} - I \cap \text{II} = \emptyset}$$

الف) $y = \sqrt{\frac{x^2 - x - 4}{x^2 - 13x^2 + 44}}$ $\Rightarrow \frac{x^2 - x - 4}{x^2 - 13x^2 + 44} \geq 0$

$\frac{x^2 - x - 4}{x^2 - 13x^2 + 44} \geq 0$ $\Rightarrow \frac{x^2 - x - 4}{x^2 - 13x^2 + 44} \geq 0$

$\frac{x^2 - x - 4}{x^2 - 13x^2 + 44} \geq 0$ $\Rightarrow \frac{x^2 - x - 4}{x^2 - 13x^2 + 44} \geq 0$

$\frac{x^2 - x - 4}{x^2 - 13x^2 + 44} \geq 0$ $\Rightarrow \frac{x^2 - x - 4}{x^2 - 13x^2 + 44} \geq 0$

$\Rightarrow D_f = (-\infty, -3) \cup (-3, -2) \cup (2, 4) \cup (4, +\infty)$

ب) $y = \sqrt{\frac{x^2 - 2x^2 - 8x + 2}{x^2 + 2x^2 - 8x - 2}}$ $\Rightarrow \frac{x^2 - 2x^2 - 8x + 2}{x^2 + 2x^2 - 8x - 2} \geq 0$

$\frac{x^2 - 2x^2 - 8x + 2}{x^2 + 2x^2 - 8x - 2} \geq 0$ $\Rightarrow \frac{x^2 - 2x^2 - 8x + 2}{x^2 + 2x^2 - 8x - 2} \geq 0$

$\frac{x^2 - 2x^2 - 8x + 2}{x^2 + 2x^2 - 8x - 2} \geq 0$ $\Rightarrow \frac{x^2 - 2x^2 - 8x + 2}{x^2 + 2x^2 - 8x - 2} \geq 0$

$\Rightarrow D_f = (-\infty, -3) \cup [-2, -1) \cup [1, 2) \cup [4, +\infty)$

الف) $y = \sqrt{[-x] - 2} \Rightarrow [-x] - 2 \geq 0 \Rightarrow [-x] \geq 2 \Rightarrow -x \geq 2 \Rightarrow x \leq -2$

$\Rightarrow D_f = (-\infty, -2]$

ب) $y = \sqrt{[x]^2 - 2[x] - 3}$ $\Rightarrow ([x]^2 - 2[x] - 3) \geq 0$

$([x]^2 - 2[x] - 3) \geq 0 \Rightarrow ([x] - 3)([x] + 1) \geq 0$

$[x] = 3 \Rightarrow 3 \leq x < 4$

$[x] = -1 \Rightarrow -2 \leq x < -1$

$\Rightarrow D_f = [3, 4) \cup [-2, -1)$

الف) $y = \frac{\cot x + 1}{\tan x + 1}$ $\Rightarrow \frac{\cot x + 1}{\tan x + 1} \geq 0$

$\frac{\cot x + 1}{\tan x + 1} \geq 0$ $\Rightarrow \frac{\cot x + 1}{\tan x + 1} \geq 0$

$\frac{\cot x + 1}{\tan x + 1} \geq 0$ $\Rightarrow \frac{\cot x + 1}{\tan x + 1} \geq 0$

$\tan x \neq -1 \Rightarrow x \neq \frac{3\pi}{4} + k\pi$

$\Rightarrow D_f = \mathbb{R} - \{k\pi, k\pi - \frac{\pi}{4}\}$

ب) $y = \sqrt{1 - \frac{1}{4} \sin^2 x}$ $\Rightarrow 1 - \frac{1}{4} \sin^2 x \geq 0 \Rightarrow \frac{1}{4} \sin^2 x \leq 1 \Rightarrow \sin^2 x \leq 4$

$\sin^2 x \leq 4 \Rightarrow \sin x \leq \frac{1}{2}$

$\Rightarrow D_f = [k\pi, k\pi + \frac{\pi}{6}] \cup [k\pi + \frac{5\pi}{6}, k\pi + \pi] \cup [k\pi + \frac{7\pi}{6}, k\pi + \frac{3\pi}{2}]$

$$\log_a b = c \Rightarrow a = b^c \quad \left\{ \begin{array}{l} a > 0 \\ b > 0 \\ b \neq 1 \end{array} \right.$$

Year Month Date ()

امید نیرفداس بازدم

$$\text{a) } y = \sqrt{1 - \log_{\frac{1}{r}}^{n-1}} \Rightarrow \log_{\frac{1}{r}}^{n-1} \geq 0 \Rightarrow \log_{\frac{1}{r}}^{n-1} \leq 1 \Rightarrow n-1 \leq \frac{1}{r} \quad (9)$$

$$n \leq \frac{1}{r} \Rightarrow D_f = (-\infty, \frac{1}{r}]$$

$$\text{b) } y = \sqrt{\frac{n^r - n}{1 - \log_{\frac{1}{r}}^{n^r - n}}} \rightarrow n^r - n \geq 0 \Rightarrow \frac{0}{+0 - 0} \rightarrow \text{I}.$$

$$1 - \log_{\frac{1}{r}}^{n^r - n} \neq 0 \Rightarrow 1 - \log_{\frac{1}{r}}^{n^r - n} \neq 0$$

$$\log_{\frac{1}{r}}^{n^r - n} \neq 1 \Rightarrow n^r - n \neq r \Rightarrow n^r - n - r \neq 0 \rightarrow \mathbb{R} - \{r, 1\} \quad (11)$$

$$\Rightarrow D_f = \mathbb{I} \cap \mathbb{II} = (-\infty, 0] \cup [1, +\infty) - \{-1, r\}$$

$$\text{a) } y = \sqrt{\frac{\varepsilon n - n^r}{-1}} \Rightarrow \frac{\varepsilon n - n^r}{-1} \geq 0 \Rightarrow \frac{\varepsilon n - n^r}{-1} \geq r^r \quad (10)$$

$$\Rightarrow \varepsilon n - n^r \geq r^r \Rightarrow n^r - \varepsilon n + r^r \leq 0 \rightarrow \frac{1}{+0 - 0} \Rightarrow D_f = [1, r]$$

$$\text{b) } \left(\frac{r_{k+\Delta}}{r_{k+\varepsilon}} \right)! \rightarrow \frac{r_{k+\Delta}}{r_{k+\varepsilon}} \in W \Rightarrow r_{Wk} + \varepsilon W = r_{k+\Delta}$$

$$\Rightarrow r_{Wk} - r_k = \Delta - \varepsilon W$$

$$\Rightarrow k(r_W - r) = \Delta - \varepsilon W \Rightarrow k = \frac{\Delta - \varepsilon W}{r_W - r}$$

$$\Rightarrow D_f = \left\{ k \mid k = \frac{\Delta - \varepsilon k}{r_k - r}, k \in W \right\}$$